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Assessment Training Practice #2A
1.) Examine the quadratic function below. Label the graph with parts a —g.
a.) Find the y-intercept (O g)
b.)  What are the different names for the x-intercepts? Zer0. S Q0 é/ S
and Solutions
T
c)  Find the x-intercept(s) ( A O> A ‘Zé o/ }
d.) Identify the vertex ((;j; _
L .
e) Isthe vertex a maximum or a minimum? Why’? The, vertex 070 /1; - /> /S

QMINIMUm. becaust, 1L 18 the, Jowest ,xmwa., 1 Lhe .91 h,
J

f.) Write the equation of the axis of symmetry = 3

g.) Write an equation for this quadratic function @=1ora=-1) (/ = /?; ‘“‘{ ,;:7 g ha ?
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2.) Examine the quadratic function below. Label the graph with parts a —f.

a.) Find the y-intercept ( O,‘ 3 )

b)  Find the x-intercep(s)Zero(s) root(s) solution(s) (-3.0) ) (| ) 0)
c) Identify the vertex (" / \ M ) )
d) Isthe vertex a maximum or a minimum? Why? T/L} e, Vertex O?D ( [, ﬂ /S _Q

mazximum becouses 1t s The hiahest point on the araph
e.)  Write the equation of the axis of symmetry X= / v

e
f.) Write an equation for this quadratic function (a =1 ora = -1) (/ff' - K/O‘ —A 4t 3
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3) Examine the quadratic function below. Label the graph with parts a —f.
a.) Find the y-intercept ( O 13 >

/ 2 1)
b.) Find the x-intercept(s)/Zero(s)/ root(s)/ solution(s) (/ ) O> ( U/

\
7 / -

c.) Identify the vertex ((;Z

d.) Is the vertex a maximum or a minimum? Why? Tﬂto \/Uf’ X ¢ 7[ (0/2 > /S d
Mazormum beCause Mmﬁdm@bwh“zﬁme@wﬂwq&pﬁ
e.) Write the equation of the axis of symmetry X - 02/

- ! fﬂs o i VN
f.) Write an equation for this quadratic function (a = 1 ora =-1) f = - ;%i § Xx QE
VA, o /
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4.) Examine the quadratic function below. Label the graph with parts a —f.
~ ~ ,}

a.) Find the y-intercept ( U; ) /

)

b.) Find the x-intercept(s)/Zero(s)/ root(s)/ solution(s) ( el O) (/ m

!
c.) Identify the vertex ( ~l T /7/

d.) Is the vertex a maximum oraminimum'7 Why'7 ; f‘*w \/f\oﬁu %8 (}T // 7)/5 O
munimum hecause, (L 15 the, /{m: < ;dfiﬂf’?f (W? Z”/‘ f“z:ﬁ oh.

e.)  Write the equation of the axis of symmetry XJ -

_ oA -
f.) Write an equation for this quadratic function @a=1ora=-1) _ (/ - e %&2% 3
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Factor each expression for 5 — 8.

5) ec+a-o¢  (r(UF J;}Q

2 .3 {
I (20 + - 3)
6.) 49 - 144

Tr Q% (7/““5'/55)(7/w W’/O?J

oy -2y -112 (5 F

g(ﬂ“ Y- 6@ | g(j 8)@ 7)

8.) 12d? - 8d + 1
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9.) Explain what can be determined by looking at each form of a quadratic function.
a.) Standardform y = ax®* + bx + ¢
ILn the, Standard 7%/‘/?7}, Lhe, value of ¢
LeOrCSENLS e (f ~intercent

{
N’

b.) Factoredform y = a(x - p){x - Q)

1n u“w thetored form . cion SET X ok =0 and X-2:=0
Salve, tir Ve :mu/@ “0 %zf(?x// Z‘%v (Su /05000 S
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c) Vertexform y = a(x - h? + k
Th the, Ve rtey f@ﬁm Ches vertey 1S f@,@m&@/yé&@/
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The following is a graph of the path of a rocket after it is launched.
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10.)  Explain the real world meaning of the following points. Helght is in feet and timeis in

—_— 1 - ,’/I /‘/ Y / . /1_;{ a\ L//Zf;? / -
seconds. X = (} X, Ve Y U /e 4 i,}/ S
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b)  x-intercept(s) Ie 0,0) A Seconds Lhe, rocket flewd Ofeel
(38,00 AL 28 Stconds, ¢he. AT Sl R ’

(7/ 0Ll I

11.) What does the x represent in the function?

”/ ﬁ’”‘&/

12a.) How long does it take for the rocket to reach the ground?

AY S @&//}”)é”/ 5

12b.) What is the fall time of the rocket?
/&f jﬂ"/mz/}/“



13.)

13))

14a.)

14b.)

15.)

Examine the function below.
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What point is missing from the table?
/ /””} o V u/ o0

How can you find the vertex of this graph?
%j: ""W@M
AR
Find the vertex. Show your work. 7 9y O <y
(@) mj J’")/ 7ﬁ<a§é§“> - -/(§Z6/> + [ 7{5
v 9 =t LRE) - R0.a8
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v, - %.8,40.45 )

Explain why you could not see the vertex in the table.
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16.) Graph the function: f(x) = 3x* - 2x - 5
o i g
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Plot the parabola correctly. 10 L !
v S
\/ Label the coordinates of the vertex on the graph. { D
%
If necessary, use the formula. e - PN
V=i e A K= g XF3 0 13235 A5 )
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Label the coordinates o% the y-intercept on the graph.
\/ Show the Axis of Symmetry
_L
\/ Write the equation of the Axis of Symmetry. X/ - \j
/ 5
Label the zeros on the graph. _ ™ > < e
( / }O 3 ) O
If necessary, use the quadratic formula. ~
N v, 8
Y= ~b=Nb"-7aC "o/ O
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17.)  Graph the function: f(x) = -x* + 4 i
X y )
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J ®) o 2N ) J (oA
. 7 4 \.), E’
A0 (0,1 Zs
ol [ AEa MRS I
£ o f}; E \‘:/ 5(’ " {,e*‘g
/ \3 (-10 E{ -E. 7 - 5 -4 i Zas 4 5; k/i: 7 g 10 )
210 .
= NN
i;f L} / - 2
B |
f’ -6
.
i g’ .
f I & !
Plot the parabola correctly. ! 10 I
1 Y
\/ Label the coordinates of the vertex on the graph.
If necessary, use the formula. ?\):“ @,

s N
(0,%)
/
v Label the coordinates of the y-intercept on the graph.

v Show the Axis of Symmetry

/ =0
Wirite the equation of the Axis of Symmetry. /\J"‘

\/ Label the roots on the graph.

If necessary, use the quadratic formula.

N -



If necessary, use the formula.
(' A ) 7 V
Label the coordinates of the y-intercept on the graph.
Show the Axis of Symmetry

Write the equation of the Axis of Symmetry. A= - g

S ™

Label the solutions on the graph.

If necessary, use the quadratic formula.

(’Oi@> </2O>

18.)  Graph the function: f(x) = x* + 4x - 5 N 2 )
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i ) Soluibuon | B /
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Plot the parabola correctly. ‘ L 10
/ -y
v/ Label the coordinates of the vertex on the graph. ;
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